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1. The working principle of a washing machine is :

(A) Centrifugation (B) Diffusion (C) Dialysis (D) Reverse osmosis

2. Which one of the following teams has won the Pro Kabaddi League 2015 ?

(A) Patna - Pirates (B) Telugu Titans  (C) U - Mumba (D) Bangaluru - Bulls

3. Who is the highest paid CEO of Indian banks currently ?

(A) Adivapuri (B) Chanda Kochhar
(C) Uday Kotak (D) Rana Kapoor

4. In which year Wood’s Despatch on Education was introduced ?

(A) 1851 (B) 1852 (C) 1853 (D) 1854

5. In which language ‘Baburnamah’ was written ?

(A) Persian (B) Arabic (C) Turki (D) Afghani

6. Who of the following hoped to use the Congress as a Safety valve ?

(A) Lytton (B) Rippon (C) Hume (D) Curzon

7. Which one among the following is the richest source of protein ?

(A) Soyabean (B) Wheat (C) Carrot (D) Potato

8.  Trickledown hypothesis refers to :

(A) The impact of Per capita on poverty

(B) The impact of National income on poverty
(C) The impact of Personal income on poverty
(D) The impact of Poverty on income status

9. Maich the following and choose the correct answer from code given below :

Minerals District
(a) Coal (i) Phek
(b) Lime stone (1) Tuensang
(c) Nickel ferrous chromite-magnetite (i) Mon
Code :

(@) (b) (c)

(A) () (1) ()
B) ) (@) (i)
(C) @) () )
(D) () () (i)
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Answer options not very accurate. Right Answer:
Chagatai Turkic, Babur’s mother tongue.




10.

11.

12.

Which one of the following is the 29" state of India ?
(A) Goa (B) Jharkhand (C) Telangana (D) Uttarakhand

Rolling plan is associated with :
(A) Janatha Government (B) UPA Government
(C) NDA Government (D) Congress Government

What is the population (as per data of 2012) of Nagaland ?
(A) 284 million (B)  3.34 million (C) 2.01 million (D) 2.27 million

13. Which one among the following diseases is not caused by virus ?
(A) Measles (B) Hepatitis A. (C) Mumps (D) Dengue

14. Who discovered X - rays ?
(A) Galileo (B) Faraday (C) Ramanujam (D) Roentgen

15. Three - man Peace Commission secured an agreement for a cease - fire in 1964. Who amongst
the following were members of this Three-man Peace Commission ?
(i)  Jai Prakash Narayan (i) Jawaharlal Nehru
(i) Z.A. Phizo (iv) Reverend Michael Scott
(v) A.B. Chaliha
(A) (i), (i) and (iii) (B) (i), (iv) and (v)
(C) (i), (iii) and (v) (D) (i), (iv) and (v)

16. Under Smart City Mission of the Union Government, the number of city/cities selected in
Nagaland are :
(A) 1 B 2 < 3 (D) 4

17. “BRICS” seventh summit was held in July 2015 at :
(A) Ufa in Russia (B) Moscow in Russia
(C) Islamabad in Pakistan (D) New Delhi in India

18. At the beginning of 2011, all the travel restrictions were lifted on Nagaland and

, the two Indian Union States in which the majority of Nagas currently live.

(A) Mizoram (B) Sikkim (C) Manipur (D) Assam
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19.

P.B. Acharya took over charge as Governor of Nagaland on .
(A) 24" June 2014 (B) 24th May 2014 (C) 14t July 2014 (D) None of these

20.  The first national emergency in India was declared in the year :
(A) 1948 (B) 1965 (C) 1962 (D) 1971
21. Which one of the following is a water borne disease ?
(A) Malaria (B) HIV - AIDS (C) Cholera (D) Diphtheria
22.  Need for developing wage goods sector was emphasised by :
(A) Vakil and Brahmananda (B) Raja Chellaiah
(C) Man Mohan Singh (D) C. Ranga Rajan
23.  As per the accidental deaths and suicides in India 2014 report which among the following
states have maximum farmer suicides due to “Bankruptcy” ?
(A) Maharashtra  (B) Bihar (C) Karnataka (D) Telangana
24.  Which country has won the FIFA Women’s World Cup - 2015 ?
(A) Ttaly (B) Germany (C) USA (D) China
25. Base four equivalent of the decimal number 224 is :
(A) 3201, (B) 3200, (C) 3102, (D) 3100
26. Which festival was celebrated in Dimapur in the beginning of September 2015 ?
(A) Tsokm (B) Yemshe (C) Mongmong (D) None of these
27. Palk Strait separates India from :
(A) Bangladesh (B) Myanmar (C) Maldhives (D) Sri Lanka
28.  Who of the following said that after Bahadur Shah’s death the Mughals would lose the
title of kings ?
(A) Canning (B) Dalhousie (C) Hastings (D) Elgin
29. At which place Rajaraja Chola allowed Srivijaya ruler to build a Buddhist Vihara ?
(A) Nagapattinam (B) Tanjore
(C) Gangaikonda Cholapuram (D) Chidambaram
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30. Who is the first Vice Chairman of National Institution for Transforming India (NITI)

Aayog ?
(A) Raghuram Rajan (B) Ahluvali
(C) Justice Lodhda (D) Dr. Arvind Panagaria

31. “Take care of poverty as this will take care of the GNP” is said by :
(A) AK Sen (B) CJ. Kurion
(C) AK Bagchi {D) Mahbub-ul-Haq

32. Matti Makkonen, who died recently, was known as :
(A) Father of cell phone (B) Father of SMS
(C) Father of e-mail (D) Father of e-marketing

33. In the Rajani Kothori’s “Indian model of development” the critical and creative role will be
played by :
(A) Politics (B) Economy (C) Society (D) Institutions

34. Mushrooms are actually :
(A) Fruits (B) Seeds (C) Fungi (D) Bacteria

Directions for question number 35 and 36 :

A family’s monthly expenditure towards five heads : House rent (H), Food (F), Education (E),
Savings (S) and Miscellaneous (M) given in the following Pie diagram. Using this information
answer the questions.

35. What percent of monthly income is being spent on house rent ?
(A) 12% (B) 15% (C) 18% (D) 21%

36. What percent of monthly income meant for savings ?
(A) 30% (B) 35% (C) 40% (D) 45%
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37.

The first president of New Development Bank of BRICS Nations is

(A) Chanda Kochhar (B) Aditya Puri
(C) Bhaskaran (D) K.V. Kamath
38. Who played the role of boxer “‘Mary Kom' in the movie having the same name that released
in 2014 ?
(A) Kangna Ranaut (B) Aishwarya Rai
(C) Priyanka Chopra (D) Anushka Sharma
39. Abhinav Bharat a revolutionary society was organised by :
(A) SuryaSen (B) ML. Dhingra (C) V.D. Savarkar (D) Profulla Chaki
40. What is the predominant type of Indian Agriculture ?
(A) Plantation Agriculture (B) Subsistent Agriculture
(C) Commerical Agriculture (D) Extensive Agriculture
41. Which one of the following is not correctly matched ?
(A) Aluminium - Bauxite (B) Lead - Galena
(C) Zinc - Magnetite (D) Copper - Chalcopyrite
42. Sharavathi hydro electric project is located at :
(A) Karnataka (B) Himachal Pradesh
(C) Maharastra (D) Madhya Pradesh
43. What is the full form of NEHHDC ?
(A) North Eastern Handicrafts and Handlooms Development Corporation Ltd.
(B) North East Highways and Hotels Development Company
(C) Nagaland Highways and Hotels Development Corporation
(D) Nagaland Handloom and Handicraft Development Company Ltd.
44. How many times the word ‘Jana’ occurs in the Rig Veda ?
(A) 27 (B) 30 (C) 40 (D) 50
45. Who is the current Central Vigilance Commissioner of India ?
(A) Justice Sri Krishna (B) Ranga Rajan
(C) Dev Vrath (D) K.V. Chowdary
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46. Majority of Naga population lives in __ and depend on
(A) Forests ; hunting
(B) Villages ; agriculture
(C) Urban areas ; industrial employment
(D) Coastal towns ; fishing
47. In which year the Widow Re-marriage Act was passed ?
(A) 1852 (B) 1853 (C) 1854 (D) 1855
48. Who is called as "Missile man of India” ?
(A) Dr. APJ. Abdul Kalam (B) Kasturi Rangan
(C) Satish Reddy (D) None of the above
49. Which of the following is the largest state in India by area ?
(A) Rajasthan (B) Madhya Pradesh
(C) Bihar (D) Telangana
50. Rahmat Ali who in 1933 talked about “Pakistan’ was a university student of :
(A) Lahore (B) Cambridge (C) Karachi (D) Oxford
51. The Indian model of constitution is :
(A) Evolutionary (B) Revolutionary
(C) Evolutionary and Revolutionary (D) Discretionary
52. The campaign “Give it up” is associated with :
(A) No to tobacco (B) No to LPG subsidy
(C) No to dowry (D) No to corruption
53. The Zemi Nagas build stone lined ponds which are held to increase fertility of the
(A) Crops (B) Animals (C) Community (D) Birds
54. The Pradhan Mantri Gram Sadak Yojana (PMGSY) is expected to cover all rural habitations
with a population with road network in hill and tribal area is :
(A) 500 (B) 1000 (C) 2000 (D) 500 - 1000
46 47 48 | 49 | 50 | 51 | 52 | 53 54
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1 Mark to All tribal districts and desert areas.
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55. Which of the following dams is located near Wokha village in Nagaland ?
(A) Rangit Dam (B) Subansiri Dam (C) Khuga Dam (D) Doyang Dam
56. Where is the pearl fishing done in India ?
(A) Kakinada (B) Kandla (C) Tuticorin (D) Cochin
57. Which one of the following elements reacts violently with water ?
(A) Al (B) Zn (€) K (D) Fe
58. Match List - I with II and select the correct answer using the code given below in the lists :
List - I List - II
Vitamin Deficiency disease
(a) A (1)  Night Blindness
(b) B (i) Scurvy
(¢ C (i) Rickets
(d D (iv) Beribeni
@ ®) (o (@
A) 6 M) @) @Gv)
B) () @(v) (@ Gi)
© @ @) G v
(D) (@) (v) @@ @)
59. A Hindu college was opened in January 1817 at Calcutta by :
(A) John Kay (B) David Hare (C) Lord Lake (D) Brown
60. Match the following and choose the correct answer from the code given below :
Tribe Festival
(a) Phom (1) Monyu
(b) Rengma (i) Moatsu
{c) Angami (i) Ngada
(d) Ao (iv) Sekrenyi
Code :
- @ () (o (@
(A) ) () (v) (i)
B) @ @) (v) ()
€ @) @v) () (@)
D) @) Gv) (@) ()
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61. How much Hydropower Generation Capacity is installed in the state of Nagaland ?
(A) 4255 MW (B) 5332 MW (C) 3523 MW (D) None of these

62. The metal used in storage batteries is :
(A) Copper (B) Zinc (C) Lead (D) Mercury

63. A fraction remains same when the numerator is decreased by 6 and the denominator is
decreased by 4. Then the fraction is :

N
W |
SRR

7
A 3 (B) (©) (D)

64. The Self Respect Movement was started in Tamil Nadu by :
(A) Komaraj Nadar (B) Rama Swamy Naicker
(C) M.G. Ramachandran (D) M.C. Rajah

65. Which among the following variety of coal contains highest percentage of carbon ?
(A) Peat (B) Lignite (C) Bituminous (D) Anthracite

66. Which of the following is not a natural resource ?
(A) Soil (B) Water (C) Air (D) Electricity

67. Fluorine, chlorine and bromine belong to group 17. They have same :
(A) Number of shells (B) Number of valence electrons
(C) Atomic number (D) Atomic radius

68. Recently, ISRO's PSLV - 28 has successfully launched five satellites belonging to :
(A) France (B) Sri Lanka (C) USA (D) UK

69. Which one of the following country will host the Twenty 20 cricket World Cup in 2016 ?
(A) Bangladesh (B) Austraha (C) England (D) India

70. The sum of numerator and denominator of a fraction is 16. If the numerator is decreased by

3 and the denominator is decreased by 4 the result is é . Then the sum of squares of numerator
5

and denominator is :

(A) 130 (B) 140 (€) 150 (D) 160
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71.  Prime Minister Sri Narendra Modi has launched Atal Pension Yojana (APY) for :
(A) Employees (B) Unorganized sector workers
(C) Doctors (D) Actors
72.  Which of the following is an electronic presentation tool in MS Office ?
(A) Word (B) Excel
(C) Power point (D) None of the above
73. The Swadeshi Movement was launched and the famous Boycott resolution was passed
on:
(A) 6% July, 1905 (B) 7h August, 1905
(C) 8% September, 1905 (D) 9th October, 1905
74. The Vice - President of India can be removed from office by :
(A) Rajyasabha (B) Loksabha
(C) Rajyasabha and Loksabha (D) President
75. Who is Chief Secretary of Nagaland State ?
(A) Pankaj Kumar (B) R. Binchilo Thong
(C) Sanjay Kumar (D) Temjen Toy
76. Name the well known Hindi writer who was awarded with the 28" Moortidevi Award
for 2014 :
(A) K.L. Mitrash (B) Raghuvamsh
(C) Veerappa Moily (D) Vishwanath Tripathi
77. How many countries share boundary with India ?
(A) 5 (B) 6 (C) 10 (D) 7
78. Name the Newspaper started by Gandhi in South Africa :
(A) South Africa Times (B) Indian Opinion
(C) Indian Pulse (D) India Times
SCSP-15- 10 A
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79.

80.

81.

82.

83.

85.

86.

87.

Arrange the following layers of atmosphere vertically from the surface of the earth :

(a) Stratosphere (b) Thermosphere

() Mesosphere (d) Troposphere

(A) (d). (c), (b). (a) (B) (d). (a), (c), (b)
(€) (). (c), (a). (b) (D) (a). (b), (c), (d)

Which one of the following is used for treating indigestion ?
(A) Antacid (B) Antiseptic (C) Antibiotic (D) Analgesic

Who of the following rulers collected “Jizya’ from the Brahmans ?
(A) TMtutmish (B) Balban

(C) Allauddin Khilj (D) Firoz shah Tughlaq

The units digit of the number 123128 +105'10 js -
(A) 4 B 5 (©) 6 (D) 7

Which of the following Indian films won Critics (FIPRESCI) Award at the 68*" International
Cannes Film Festival ?

(A) Masaan (B) Bahubali (C) NH10 (D) PK

Who was the Chief Minister of Nagaland during 26" January 2008 to 1% March 2008 ?
(A) Neiphiu Rio (B) TR. Zeliang (C) S.C Janmir (D) None of these

Identify the Indian state which has the lowest sex ratio.
(A) Kerala (B) Haryana (C) Telangana (D) Gujarat

Who was conferred with Rajiv Khel Ratna Award - 2015 ?
(A) Dhoni (B) Saina Nehwal (C) Sania Mirza (D) Natasha Palha

In the following figures fill the gap with suitable number :

(D) 5
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88. Which is the main staple diet of the people of Nagaland ?
(A) Wheat (B) Rice (C) Millet (D) Maize
89. Consider the two triangles AABC, ADEF. If ZA = ZE and ZF = /B, then which of the following
is not true ?
BC AC AB _BC AB_AC BC AB
) DF " DE ®  bE"F © B "bE ©) D EF
90. According to the Constitution of India executive power is vested in -
(A) Prime Minister (B) President
(C) Council of Ministers (D) Cabinet
91. If p and q are two statements, then the statement (p — q) -» q is equivalent to (under usual
notation).
(A) g-p (B) ~q--~p © pvgq (D) q
92. Find the odd one out among the following :
rectangle, square, parallelogram, trapezium
(A) rectangle (B) square (C) parallelogram (D) trapezium
93. If t, denotes the n' term of an arithmetic progression with tso =ty =15, then the common
difference is :
1 1
(a) -2 () 2 &~ ® 3
94. Fill in the blank with suitable number in the following sequence :
100, 111, 1010, 1101, 10011
(A) 10000 (B) 10001 (€) 10101 (D) 11001
95. The average size of land holdings in India is :
(A) 10.23 ha (B) 0.85 ha (C) 1.23 ha (D) 654 ha
96. In 2008, Naga Singer Naro won Musical Contest .
(A) King of Music (B) Naga Idol (€) Music Queen (D) Music Naga
97.  Which one of the following is an artificial ecosystem ?
(A) Pond (B) Lake (C) Forest (D)  Crop field
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98. The angle between two radii of a circle is 123°. Then the angle between the tangents at the
ends of the radii is :
(A) 58° (B) 57¢ (C) o67° (D) 50°
99. The concept of multi-member commission is introduced in the election commission of India
in the year :
(A) 1989 (B) 1993 (C) 1975 (D) 1977
100. Suppose m and n are odd integers. Then an odd integer among the following is :
(A) m+n+1 (B) mn+1 (C) m+n+2 (D) m—n
101. Which of the following is not an audio file format ?
(A) .wma (B) .mp, (C) .mpy (D) .pdf
102. In which session the Congress passed a resolution on Fundamental Rights ?
(A) Karachi (B) Bombay (C) Lahore (D) Nagpur
103. Which one among the following statements is not true for mammals ?
(A) Some of them lay eggs (B) They possess hair on body
(C) Their heart is three chambered (D) Some are aquatic
104. With how many followers Gandhi Started Dandi March in March 1930 ?
(A) 77 (B) 78 (C) 79 (D) 80
105. Zunheboto district of Nagaland State shares it's boundaries with ____ other districts
of the State.
(A) 3 (B) 4 © o D) 5
106. Bauxite is an ore of :
(A) Copper (B) Aluminium (C) Lead (D) Iron
107. The perimeter of the triangle with vertices (0, 0), (5, 0), (0, 12) is :
(A) 25 (B) 30 (C) 35 (D) 36
108. What is defined as the change in velocity over time ?
(A) Movement (B) Acceleration (C) Speed (D) Force
A 13 SCSP-15
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109. The Deccan Trap is made up of :
(A) Granite (B) Quantzite (C) Basalt (D) Shaies

110. Film and Television Institute of India (FTTI) is located at :
(A) Chennai (B) Pune (C©) Mumbai (D) Hyderabad

111. Which among the following tops the list in production of wind energy ?
(A) Rajasthan (B) Kerala (C) Tamil Nadu (D) Gujarat

112. Which one of the following is a constitutional body ?
(A) Inter-State Council (B) National Development Council
(C) National Commission for women (D) Niti Ayog

113. Suppose p, q are any two statements, then the statement (~p) > (p > q)isa:
(A) tautology (B) contradiction (C) converse (D) inverse

114. Which one of the following rivers does not originate in India ?
(A) Ravi (B) Beas (C) Chenab (D) Sutluj

115. The text ‘Madhura Vijayam’” was written by :
(A) Kampana (B) Ganga Devi (C) Tirumalamba (D) Molla

116. ‘Chihalgani’ refers to :
(A) Corp of twenty (B) Corp of thirty
(C) Corp of forty (D) Corp of fifty

117. Auxins are responsible for :
(A) Germination of seeds (B) Closing of stomata
(C) To promote cell division (D) Cell elongation

118. Which amongst the following districts Intanki National Park is situated ?
(A) Peren (B) Mon (C) Kiphire (D) Dimapur

119. Where is Nagaland Police Headquarters located ?
(A) Dimapur (B) Chumukedima (C) Kiphire (D) None of these
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120.

121.

122.

123.

124.

125.

126.

127.

128.

The Head quarters of the Asian Infrastructure Investment Bank (AIIB) which is established
to finance infrastructure projects in Asia, is located at :

(A) Islamabad (B) Dhaka (C) Beijing (D) New Delhi
The 10° channel separates :

(A) India and Sri Lanka (B) Andaman and Nicobar

(C) India and Myanmar (D) Telangana and Andhra Pradesh

In 1938 the Congress appointed a National Planning Committee under the chairmanship
of :

(A) Subhas Chandra Bose (B) Jawaharlal Nehru

(C) Pattabhi Sitaramayya (D) P.C. Mahalnabis

By annexing which state Aurangazeb finally conquered Deccan in 1687 ?

(A) Khandesh (B) Berar (C) Ahmadnagar (D) Golconda
The arch priest of ideology of “non congressizm” was :

(A) Jayaprakash Narayan (B) M.N. Roy

(C) C. Rajagopala Chari (D) Dr. Ram Manohar Lohia

In which year Akbar abolished ‘Jizya’ ?

(A) 1561 (B) 1562 (C) 1563 (D) 1564
Aeropanics is a technique of growing plants without :

(A) Soil (B) Water (C) Air (D) Fertilizer

Gandhi wrote in Young India that through this Movement he would bring Swaraj in one
year. He was referring to :

(A) Home Rule Movement (B) Non - Cooperation Movement
(C) Civil Dis-obedience Movement (D) Quit India Movement

Name the Minister of State (Independent Charge) of the Ministry of Development of North
Eastern Region :
(A) Dr. Mahesh Sharma (B) Shri Mansukhbhai Dhanjibhai Vasava
(C) Dr. Jitendra Singh (D) Dr. Rajiv Pratap Rudy.
15 SCSP-15
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129.

130.

131.

132.

133.

Consider the graph of f(x) = 1+ |jx{ — 2|. Which of the following statements is true about
this graph ?

(I) Y-intercept is 3

(IT) Symmetric about X-axis

(II) Symmetric about Y-axis

(A) (D) and (1) (B) (1) and (IT)

(C) (1) and () (D) (D), () and (1)

Consider the graph of |x|+|y|=1. Then which of the following statements is not true ?
(A) Symmetric about x-axis

(B) Symmetric about y-axis

(C) Symmetric about both x and y - axes

(D) Neither symmetric about x-axis nor about y-axis

In which year Cabinet Mission visited India ?
(A) 1943 (B) 1944 (C) 1945 (D) 1946

In which year the Chauri - Chaura incident took place ?
(A) 1921 (B) 1922 (©) 1923 (D) 1924

Binary equivalent of the decimal number 220 is :
(A) 11011100 (B) 11011010 (C) 11011000 (D) 11001110

134. Koyank believe that great amount of power is there in hands of their High
God
(A) Lichaba (B) Gawang (C) Kepenopfu (D) None of these
135. Who authored the Book ‘Poverty and Un - British Rule in India’” ?
(A) Tilak (B) R.C. Dutt (©) MG. Ranade (D) D. Naoroji
136. The first woman graduate of Calcutta University :
(A) Srlekha Basu (B) Kadambini Ganguli
(C) Supriya Bose (D) Aparna Sen
SCSP-15 16 A
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137.

138.

139,

140.

141,

142.

143.

144,

145.

Artificial method of propagation grafting is a method in which :

(A) Piece of parent plant having bud is cut and buried

(B) Two plants are joined in such a way that two stems join and grow as a single plant
(C) Small plants growing at the edge of leaves

(D) Branch of plant with at least one node is bent towards ground and part of it is
covered with moist soil leaving tip of branch exposed,

Who has topped the list of the world’s most powerful women released by Forbes in 2015 ?
(A) Angela Merkel (B) Hillary Clinton
(C) Sonia Gandhi (D) Julianne Moore

GAGAN, India’s indigenous navigational system is jointly developed by ISRO in association
with :

(A) AAI (B) DRDO (C) BDL (D) BHEL

The financial year for Millennium Development goals target is :
(A) 2020 (B) 2015 (C) 2025 (D) 2018

By which Act Dyarchy was introduced in India ?
(A) 1892 (B) 1909 (C) 1919 (D) 1935

Aoleang Monyu is a significant festival for which one of the major tribe ?
(A) Konyak (B) Angami (C) Chang (D) Ao

A women’s regiment of Indian National Army was formed by Bose and named after :
(A) Savitri Bai (B) Sita (C) Raniof Jhansi (D) Ramabai

Sodium carbonate is a basic salt because it is a salt of -
(A) strong base and weak acid (B) strong acid and strong base

(C) weak acid and weak base (D) strong acid and weak base

The title ‘Vichitra - Chitta’ was used by :

(A) Simha Vishnu (B) Mahendravarman
(C) Nandivarman (D) Aparajitavarman
17 SCSP-15
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146. The target growth rate of twelfth five year plan is :
(A) 5.6% (B) 8.9% (C) 10.0% (D) 8.0%
147. The piedmont areas of Himalayas are covered by :
(A) Saline soils (B) Marshy soils (C) Red soils (D) Tarai soils
148. 1f 2652 is the product of two consecutive positive integers, then the sum of those integers is :
(A) 100 (B) 101 (€) 102 (D) 103
149. The shifting cultivation practiced in Odisha and Andhra Pradesh is known as -
(A) Jhum (B) Bhung (C) Podu (D) Vathira
150. Who is the Governor of Bihar ?
(A) Acharya Dev Vrat (B) Vidyasagar Rao
(C) Ram Nath Kovind (D) Rosaiah
151. Who of the following along with the Mughal Emperor and Mir Kasim of Bengal fought and
lost Buxar war in 1764 ?
(A) Mysore Ruler (B) Ruler of Hyderabad
(C) Awadh Ruler (D) Peshwa of Pune
152. The reproductive parts of flower which possess the sex cells or germ cells called :
(A) Stamens (B) Sepals (C) Carpels (D) Both (A) and (C)
153. Bollywood actor Shashi Kapooristhe _________ winner of the Dada Saheb Phalke Award.
(A) 45th (B) 90t (C) 46t (D) 39th
154. Twelfth five year plan aims at reducing head count ratio of consumption of poverty over the
, plan period by :
(A) 10 percentage points (B) 8 percentage points
(C) 11 percentage points (D) 15 percentage points
155. Which district of Nagaland shares it's boundaries with Myanmar, Arunachal Pradesh and
Assam ?
(A) Tuensang (B) Kiphire (C) Mon (D) None of these
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156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

The Rajya Sabha can authorize to legislate a state subject by :
(A) 3/4™ of the Majority (B) 2/3" of the Majority
(C) 4/5™ of the Majority (D) Absolute Majority

Which of the following rulers introduced the Revenue System called ‘Dahsala’ ?

(A) Humayun (B) Shershah Suri (C) Akbar (D) Shah Jahan
Naga Origin myth says that the Spirit, Man and the are the three sons of the
same woman.

(A) Leopard (B) Tiger (C) Lion (D) None of these
On February 25t festival is celebrated by Angami people.

(A) Moatsu (B) Sekrenyi (C) Bushu (D) Tsakhanyie

NREGA come into force on :
(A) 5-9-2005 (B) 2-10-2006 (C) 2-2-2006 (D) 3-3-2007

The convention of appointing the senior most Judge of the Supreme Court as Chief Justice of
India was broken in the appointment of :

(A) Justice Y.V. Chandra Chud (B) Justice K.N. Singh
(C) Justice M.H. Beg (D) Justice A.N. Roy

Electric current is measured by :
(A) Amps (B) Joules (C) Watts (D) Ohms

To which of the following religions the text ‘Manime Kalai’ connected ?
(A) Saivism (B) Buddhism (€) Vaishnavism (D) Jainism

In which district is Sainik School located in Nagaland ?
(A) Phek (B) Wokha
(C) Tuensang (D) None of these

“International Day against Drug abuse and Illicit Trafficking” observed globally on
(A) 26, December (B) 26, June (C) 12, January (D) 21, June
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166.

Which one of the following is not correctly matched ?

(A) Tarapur - Maharastra (B) Kalpakkam - Tamil Nadu
(C) Narora - Uttar Pradesh (D) Kundakulam - Kerala
167. Which one of the following was elected as first President of the All India Kisan Sabha ?
(A) Indulal Yagnik (B) Swamy Sahajanand
(C) Narendra Dev (D) Sohanlal Josh
168. The number of x’s such that 40 < x < 400 and are divisible by 7 is :
(A) 51 (B) 52 (C) 53 (D) 54
169. Minimum Needs Program (MNP) was introduced in :
(A) 1V plan (B)  VIII plan (C) VI plan (D) V plan
170. Which one of the following was associated with Bhagat Singh in throwing the Bomb in the
Central Legislative Assembly ?
(A) V.D. Savarkar (B) Rajguru
(C) Surya Sen (D) Batukeshwer Dutt
171. A dockyard of Harappan Civilization was found at :
(A) Kalibangan (B) Kotdigi (C) Lothal (D) Banwali
172. Garo tribes belongs to :
(A) South India (B) East India (C) Central India (D) North East India
173. As on now who is the speaker of the Nagaland State Legislature Assembly ?
(A) Shri Imtikumzuk (B) Shri S.1. Jamir
(C) Shri Tokheho (D) Shri Chotisuh Sazo
174. The Komagatamaru incident related to :
(A) The Indian Migrant Labour (B) The revolutionaries
(C) Indians Living in America (D) Indians Living in England
175. Which converts mechanical energy into electrical energy ?
(A) Generator (B) Motor (C) Battery (D) Switch
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176.

177.

178.

179.

180.

181.

182.

183.

Allahabad Pillar Inscription was a :
(A) Eulogy (B) Poem
(C) Religious Sermon (D) Treaty

Find the odd one out from the following sequence :

24, 120, 210, 334, 504

(A) 504 (B) 120 (©) 210 (D) 334
19" SAARC summit will be held at -

(A) New Delhi (B) Islamabad (C) Colombo (D) Dhaka
The Bhagavan sahay committee report laid down guidelines for :

(A) Judicial appointments (B) Electoral reforms

(€) Parliamentary reforms (D) Constitutional heads

Responding to the call of Mahatma who of the following rebelled against British rule in
Nagaland ?
(A) Rani Singh (B) Rani Saikia (©) Rani Gaidinulu (D) Rani Deka

a+1+l-a_

[fa=\/§+\/€,thena_l g
2 2 2
(A) 245 ® 3 © ®) F

The filament of an electric bulb is made of :
(A) Copper (B) Steel (C) Tungsten (D) Aluminium

According to 66'® round of NSS, the poverty line is defined for rural people in India
per month is :

(A) T 672.80 (B) T 859.60

(€) T 750 - 1000 (D) T 675.50

184. Sania Mirza and clinched Wimbledon women’s doubles title - 2015.

(A) Serana Williams (B) Martina Hingis
(C) Seropova (D) Venus Williams
4 21 SCSP-15
{P.T.0}
Q: |176 177|178 179|180 | 181|182 | 183 | 184




186.

187.

188.

189.

190.

191.

192,

193.

. The highest peak in the Aravalli range is :

(A) Gurushikar (B) Chintapalli (C) Mount Abu (D) Kanchenjunga

Which is the longest dam in India ?

(A) Hirakud (B) Srisailam (C) Rihand (D) Bhakra Nangal
The strategy of long-term planned development in India was proposed by :

(A) Mahalanobis (B) Feldmon

(C) Harrad and Domav (D) S. Chakravarthy

The State of Nagaland was formally formed in the year :

(A) 1965 (B) 1963 (C) 1962 (D) 1971

Share of non-farm employment in Rural Work forces in 2009-10 :
(A) 27.8% (B) 15% (© 321% (D) 10.4%

Suppose 3 is a root of a polynomial p(x). Then a root of the polynomial p(x—6) is :
(A) 6 B 7 (C) 8 (D) 9

Potassium salts of long chain carbolic acids are known as :

(A) Soaps (B) Oils (C) Soda (D) Antibiotics
INS Sardar Patel is a/an :

(A) Air base (B) Missile (C) Naval base (D) Aircraft
The British Conquest of India led to the :

(A) Development of Agriculture

(B) Growth of Rural Cottage Industries
(C) De-Industrialisation of the country
(D) Growth of Handicraft Industry

194. What is the main component of biogas and natural gas ?
(A) Methane (B) Ethane (C) Butane (D) Propane
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195.

196.

197.

198.

199.

200.

Which of the following place was famous for Rock Art ?
(A) Harappa (B) Ahar (C) Bhimbetka (D) Nevasa

Aqueous solution of sodium sulphate is added to aqueous barium chloride solution. A white
precipitate is obtained. This reaction is an example for :

(A) Combination reaction (B) Decomposition reaction
(C) Reversible reaction (D) Double displacement reaction

With NSCN (1-M) Central Government has signed of historic peace accord on 3™ August
2015, that promises a return to normalcy in the Nagaland. NSCN (IM) stands for :

(A) Nationalist Socialist Council of Nagaland (IM)
(B) Nationalist Secularist Council of Nagaland (IM)
(C) Nationalist Socialist Centre of Nagaland (IM)
(D) Naturalist Socialist Council of Nagaland (IM)

(A) 4n-12 (B) 6n-15 (C) 6n-12 (D) 6n-16

Major portion of India’s iron ore deposits belong to .
(A) Magnetite (B) Siderite (C) Pyrite (D) Haematite

A writ is issued by the court in general against :
(A) State (B) Individual (C) Association (D) Organization
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